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COMPUTER SCIENCE
( Computer Fundamental )
[ Generic Elective ]
(CBCS)
[ First Semester |
PAPER -~ GEIT
Full Marks : 40
Time : 2 hours
The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

Illustrate the answers wherever necessary
" GROUP-A
1. Answer five questions : . 2x5

(a) Distinguish between primary and secondary
memory.
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(2)

(b) What is system software ? Give some
examples of system software.

(¢) Define cache hit ratio.
(d) What do you mean by muitiprogramming ?
(e) Provide the full form of OCR and OMR.
(f) Give the full form of ASCIL

| (g) What is the advantage of 2's complement ?

{h) Mention the name of two input devices and
two output devices.

GROUP - B

Answer any four questions : 5x4

2. Perform the subtraction using 1's complement
and 2's complement, | 5

(11010); — (1000),

3. Draw a block diagram to illustrate the basic
organisation of a computer system. 5
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(3)

Convert the following : 2% x2
(@) (9E)i6 = (7)2 |
() (176)s = (Do

What are the basic components in Von Neumann
architecture ? What are the use of each
component ? 2+3

Briefly explain the memory | hierarchy in a
computer system with the help of a diagram. 5

(a) Differentiate between ink jet printer and
laser jet printer.

() What is the use of an SMPS ? 342
GROUP -C
Answer any one question :

(@) Write short note on scanner. What you
mean by utility programs. What is the function
of ALU?

(6) 2AC)16 = (7 2+4+2+2
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(4)

9. (a) What are the uses of a program counter and
an instruction register ? 242

(h) What do you mean by scatternet and piconet
in Bluetooth architecture 7 242

(c) What are the main functions of operating
system 7 _ 2

EEGCRIL

TIREe - AYFE FYIEI AT [N
AT T AT SR @WC’F\‘SW S
Fetet — =

y | Fafele amefm o @ = 56 amiw ¥er
e ¢ , IxX¢

(F) AT @R mmﬁmrﬁawwfwm |
(2) ‘Bity ShemR’ & 2 Stz we |
() 'Cache Hit Ratio' & ?

() st (Multiprogramming) P10 30 ?
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(5)

(8) O.C.R @32 O.M.R @3 @t %% @14 |
(5) ASCII 7 =3t I ¢AF |
(%) 2's complement-<3 JR%ak & |

(%) f6 'input device' @32 4fb 'output device' 97
QI NC S

et —=
faeie ewalem o @ @ oG AT TSI W8 & ¢ x 8

2| 1's complement @32 2's complement~«F 2T
At 39 ¢ _ ¢

(11010), — (1000),
v #1AfF computer system-&3 BF =1 39 | ¢
| 8| #7493 | q-i- x 3
(F) (9E)is = (2
(¥) (176)s = (Do

_ @1 'Von Neumann' Sf¥T5ab614-«q aAfie Grimmaf
@Y, AU SR 9T HaEE R[Ed
s | R+
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(6)

v Afvg [gaa g computer system-99 'memory

hierarchy' (&1¢ | ¢
U1 (¥) 'Ink jet printer' @32 laser jet printer' €3 A<
afer @ |
(7) SMPS-43 IRZRALH =74 | © + 3

Rotst — o
Fafeie eafr wor @ @ 93 aer Teg we s

¥ | (¥) Scanner = > Ra=et whs | Utility Program'
IS F @R 7 ALU-3 97w & 2

(%) (2AC)i6 = (M) ~>\+8-+~>\+Q

5| (¥) 'Program counter' €32 'instruction register '
& & %S 3/ 7 2+

(¥) Bluetooth architecture-<3 'Scatternet' €33
'Piconet’ IS & @R 2 - 3+3

(7} 'Operating System' &3 e & 97 3
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